REVISION RECORD

LTR DESCRIPTION DATE | BY
A RELEASED FOR REFERENCE 8/13/14 | cpL
© * -
<
M
M
NOTES:
I " 1. FLOOR STAND TANK SCALES ARE DESIGNED FOR STATIC
- -7 3/8 CONCENTRIC LOADING.
| =< 2. VERTICAL TANKS SHALL BE CHECKED TO PREVENT TIPPING.
| 3. THE PURCHASER OF A FLOOR STAND TANK SCALE IS
I ADVISED TO INSTALL SAFETY PIERS OR OTHER DEVICES
I . UNDER THE WEIGHBRIDGE, OR MAIN LEVERS AND TRANS—
N Q@ VERSE LEVER ARMS TO RESTRICT THE VERTICAL MOVEMENT
HH - TO ONE INCH OR LESS IN CASE OF ACCIDENTAL OR OTHER
| < DISARRANGEMENT OF THE SCALE ASSEMBLY.
‘ 4. THE PURCHASER SHALL PROVIDE PHYSICAL CHECKING TO
® ® LIMIT THE HORIZONTAL MOVEMENT OF WEIGHT RECIEVER
r d!b 3 TO 1/4” MAXIMUM.
. | uy I
=< T - BH— — - - - G - - - - —@— — i T 17T X%
o hd | -~ [ 1
L J
@
L
L
o o .
L — o w
@ S| xS
>
>
Il
@ )
~—21/2"
X X —=
X
~ — “
~ —
\ - _ / |
| - - |
-~
| ] 16 | 10| 6007-0210 LEVELNG 5/8-11 UNC—2A x 2 1/2" 0.3
| | || e
] . LOAD CELL
‘ @ 1 9 XX STAND 147.8
- — - — - — - — - — 1 8 | 3501-B134—2A LOAD ZX-10000 STAINLESS STEEL 17.1
2
. - - - /@: CENTER
. [ ! ) 1 7 XX SHACKLE MAX. LOAD 12,500 40.2
CORNER STAND _
I 4 6 0119-C022 ASSEMBLY (10 — 15 TPS) 20.3
_ — - — — — — PIVOT HEAD
f 4 5 0119-B075 ASSEMBLY (10 - 15 TPS) 31.1
N GIRDER CHAIR
DATUM LINE >~ 4 4 0119-D004 ASSEMBLY (10 - 15 TPS) 36.5
o
‘ 3
]
LEFT HAND
L 2 XX MAIN LEVER - 145.3
RIGHT HAND B 22
1 1 XX RN Leuen | NOSE IRON 0119-B209 7.7
QTY. | ITEM |  PART/DWG. MATERIAL OR WT.
3/4-10 UNC-2B HEX NUT OUTLNE OF LOAD 7 3/8" ‘Q P11 X | P ANCHOR BOLT CALCULATED LOADS ASSY NUMBER DESCRIPTION SOURCE EACH
SUGGESTED ANCHORING 3/47 LOCK WASHER O CELL STAND BASE _—I 7 3/8" o _é_i_é_ _é_i_é_ LAYOUT "¢ min 10 906.7| WT PARTS/MATERIAL LIST
DETALL 3/4" FLAT WASHER ~|—_3 3/4 |<_ M s R "n” max 5000 A W
» 1 1 I I UNLESS OTHERWISE SPECIFIED
‘ 33/4 * o) o-—L > TOLERANCE ON DIMENSIONS ARE: 7 M Cardz.nal CARDINAL
! | : - < F—x— P2 TANK DEAD LOAD | XXXX# ANGLES P @) PETECTO
© \ INTEGERS/FRACTIONS ~ + 1/16 IN. /uﬁdmmm FULLER WEIGHING SYSTEMS
T * =-".,> ;L | /L - j_ ‘ o | o DECIMALS X)) + .03 IN. WEBB GITY. MISSOURI: USA-84870
s — y DECIMALS (.XX + .00 IN. [TITLE
] o + -5 o~ . i _ _ 1 0 TOTAL DEAD LOAD 12,500# MAX| pEciMALS (xxx + .005 IN.
A * T ° | ° 1 ‘E | NOTE: WHOLE RIUMBERS MUST BE FLOOR STAND TANK SCALE
WRITTEN XX.000 TO INVOKE
I o ¢|:_ ° ! ° LIVE LOAD 50,0004 DECIMAL TOLERANCES. SCALE NTS DO Rawe R?S(EMBLY
” » f | THIS DRAWING IS THE PROPERTY
2" DIA. HOLE —1{51/2" (=~ . » X ! OF THE CARDINAL SCALE MFG. co. ORGP DATE__6/13/14
TYP. 2 PLACES » 1" DIA. HOLE — 81/2" |~ ! ! CELL CAPACITY 10.000 AND SHALL NOT BE USED NOR RE- [CH. DATE
3/4-10 UNC-2A x 10" L-BOLT N BOLT LAYOUT AT P1 : » STz STz 0004 PRODUCED EITHER WHOLLY OR IN
Generated by Cardinal/Detecto e | o e | o THORIZATION.  ALL RIGHTS OF DE— 10F 1 0300-0155=0A A
Computer—Alded Drafiing Systom P1 LOADING 156254 SIGN OR INVENTION ARE RESERVED. | GROSS CAP. 62,5004




